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Algebra 2 Trig — First Semester Final Review NAME
Free Response /4
1. Solve (a.nd simplify) using the 4. Solve:
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2. Given the following equatiof; X= =3 & Wb N
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a. Calculate the slope (m) 5. Find the domain and range of the

¢ graph: "
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b. Calculate the x and y intercepts ‘
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3. Divide (x* +5x-3) + (x + 3)

:,%X L2 e = 6. Simplify "
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7. Multiply:
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8. Solve using substitution or
elimination:
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9. You are the assistant manager of an

appliance store. Next month you will
order two types of stereo systems.
Write the objective function. Write
and graph the constraints.

e Model A: Your cost is $400.
e Model A: Your profit is $50

e Model B: Your cost is $500
e Model B: Your profit is $100

You expect a profit of at least $6000.
You expect to sell at least 100 units.

Let X = # of Model A
Let Y = # of Model B

Objective Function to Minimize Cost
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